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ÎÒ�½. XJØ\AÏ(², V ´� F þ� n �5�m, Ù¥ n ∈ Z+.

1. ®� χA = (t− 3)4(t+ 2).

(i) � rank(A− 3E) = 2 �, O� JA;

(ii) � rank(A− 3E) = 1, 3 ½ 4 �, JA ´��(½�í?

2. O�

A =



0 0 −1 0 −1 1

0 1 1 0 1 0

0 0 1 0 1 −1

0 0 0 0 1 0

0 0 0 0 0 1

0 0 0 0 0 0


∈ M6(C)

� Jordan IO..

3. � n ´Ûê. O�

A =



1 0 · · · 0 1

0 1 · · · 1 0
...

...
. . .

...
...

0 1 · · · 1 0

1 0 · · · 0 1


∈ Mn(C)

� Jordan IO..

4. � n ´Ûê. O� Jn(0)
2 � Jordan IO..

5. � n > 1, k > 1. y²: Ø�3 X ∈ Mn(C) ¦� Xk = Jn(0).

6. (À�) � A ∈ L(V ). y²: e A k k-�ØCf�m, K§k (n− k)-�ØCf�m.
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